APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

	Project Title:		SE Crosswinds Drive - RISE							
city of	Contractor:			ssociates, Inc.	sociates, Inc.					
Ankeny	Address:	27		er Blvd., PO Box 1159, Ankeny, IA 50023						
bringing it all together	Finance Bud	get Code:	983.3983.4	210 Fin	ance Project (Code: 983.4210				
	Vendor Proje	ect or Invoice	e #:	119.0290.01	PO	#				
	Original Con	tract Date:	April 1	, 2019	Vendo	or# 990				
Date of Council Meeting	7/6/202	20			PAYMENT RE	OUEST#	13			
			D: From:				06/18/10			
Contract Summary										
Original Contract Amount:	* * * * * *	\$	162,300.00							
Net change by Change Orders:		\$	187,950.00							
Contract Amount to Date: (line 1:	± 2)			\$	350,250.00					
Total completed and stored to d	ate:	\$	243,805.95							
Retainage: 0 % of Com		\$	-							
Total Earned less Retainage:				\$	243,805.95					
Less previous applications for pa	ayment:			\$	222,389.01					
SUBTOTAL					•	\$	21,416.94			
OTHER CHARGES (Please attack						•				
OTHER CHARGES (Please attach	i an itemized list)					\$	-			
CURRENT PAYMENT DUE						\$	21,416.94			
Balance to finish, including retai	nage:			\$	106,444.05					
Contract Time Remaining (If appl	licable)		-							
				•						
The undersigned Contractor certifies that to the accordance with the Contract Documents, that received from the Owner, and that current pay	t all the amounts have	been paid by the (ormation and belief the Contractor for work for	ne work covered or which previous	by this Application for Certificate(s) for Paya	Payment has t ment were Issu	een completed in ed and payments			
Construction Contractor Approv										
Tomas a community of the community of th	Firm Name									
Signature						Date				
Engineer/Consultant Approval:	Snyder & Ass	sociates, Inc.								
P.P. Al u	Firm Name	enne	-			06	125/20			
Signature						Date				
City of Ankeny Staff Approval	rala Clar	le				6/2	/25/20 26/20			
Signature						Date				
Submit to:										
Email:			Phone:		Fax:					
					I ax.					

APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

	4/25/2019 S		52,442,90	51						#	ord of Change Orders Date		Amount
	5/23/2019 \$		59,143.97	52					-	1	9/16/20	9.8	187,950.00
	6/20/2019 \$		45,285.34	56				w.x.	-	2		<u> </u>	
	7/25/2019 \$		4.208.21	54					_	3			
	9/25/2019 \$		13,086.32	55					**	4	<u> </u>		
	10/24/2019 \$		5,664.23	56					-	5			
	11/21/2019 \$		11,683.03	57					•••	6			
	12/18/2019 \$		8,381.96	58						7			
	1/22/2020 \$		2,943.09	59					-	8			
_	2/20/2020 \$		5,768.16	60						9			, , , , , , , , , , , , , , , , , , ,
_	4/21/2020 \$		6,321.21	61						10			
_	5/20/2020 \$		7,460.59	62					_	11			
				63						12			
				64						13			
_			·	65						14			
				66					_	15			
	·····		***	67		***************************************				16			
				68					***	17			
				69					_	18			
_				70						19			
_				71						20			
				72							TOTAL	\$	187,950.00
				73									
		•		74									
_				75					-	_			
				76							ntract Time Remaining:		
				. 77					_		NTRACT PERIOD:	CLIC	CK TO CHOOSI
_				78							ginal Contract Date:		April 1, 201
				. 79		***************************************			_		ginal Contract Time:		w
				. 80 81					_		led by Change Order:		
•				- 82							ntract Time to Date: le Used to Date:		
				. 83	•				_		ntract Time Remaining:	***************************************	
			·	- 84					-	COI	wace time remaining.		
				- 85					-				
				- 86					-				
				- 87		***************************************			_				
•				- 88		······			_				
				- 89		·			-				
	······································			- 90					-				
				- 91					_				
				92									
				93									
				94									
				- 05					_				
_				_				***************************************	····•				
				-	_		·····						
_				- 1									
-				10)								

IOWA | MISSOURI | NEBRASKA | SOUTH DAKOTA | WISCONSIN

INVOICE FOR PROFESSIONAL SERVICES

June 24, 2020

Don Clark City of Ankeny 220 W First Street Ankeny, IA 50023-1751

Invoice No:

119.0290.01 - 13

Finance Code= 983.3983.4210

Finance Project # = 983.4210

Vendor # = 990

Project

119.0290.01

SE Crosswinds Drive-RISE

Professional Services through June 18, 2020

Budget \$162,300

Amendment 1 \$187,950

Total Contract \$350,250

Basic Services

Budget \$156,100

Billing Limits

Total Billings

Limit

Remaining

Current 0.00

Prior 155,948,29

To-Date

155,948,29

156,100.00

151.71

Phase Subtotal

0.00

Billings to Date

Total 155,948.29

Prior 155,948.29

Current 0.00

Additional Services

Budget \$12,350

Billing Limits

Total Billings Llmit

Remaining

Current 0.00

Prior 12,342.83 To-Date

12,342.83

12,350.00

7.17

Phase Subtotal

0.00

Billings to Date

Total 12,342.83

Prior 12,342.83

Current 0.00

Construction Services

Budget \$181,800

Principal Engineer

Project Manager VII

Hours

Rate

3.75 .50 191.00 150.00 Amount 716.25 75.00

REMIT TO: SNYDER & ASSOCIATES, INC.

Mailing: PO Box 1159 | Ankeny, IA 50021 Physical: 2727 SW Snyder Blvd. | Ankeny IA 50023 p: 888-964-2020 | f: 515-964-7938

Federal E.I.N. 42-1379015 SNYDER-ASSOCIATES.COM

Project	119.0290.01	Ank-SECross	windsDr-RISE		Invoice	13
Project N	lanager VI		5.50	144.00	792.00	
Engineer	٠٧		4.50	134.00	603.00	
Engineer	· [[]		47.00	113.00	5,311.00	
Lead Ted	chnician		16.00	121.00	1,936.00	
Technicia	an VIII		1.50	108.00	162.00	
Technici	an VI		9.00	89.00	801.00	
Technici	an V		4.50	80.00	360.00	
Technici	an IV		9.50	74.00	703.00	
Technici	an III		1.00	62.00	62.00	
Technici	an II		176.50	54.00	9,531.00	
	Total Services		279.25		21,052.25	
	Total Services					21,052.25
Employe	e Mileage				204.83	
, .	Total Expense	s				204.83
Fleet Mileage)					450.00
						159.86
Billing Limit	S		Current	Prior	To-Date	
Total Bill Limi Ren	-		21,416.94	54,097.89	75,514.83 181,800.00 106,285.17	
				Phase Subtotal		\$21,416.94
Billings to D	ate	Total 75,514.83	Prior 54,097.89	Current 21,416.94		
			A	mount Due this Invoice		\$21,416.94
		Total	Prior	Current		
Billings to D	ate	243,805.95	222,389.01	21,416.94		

Thank you. We appreciate the opportunity to serve you.

Accounts Receivable Inquiry: ar@snyder-associates.com

Project Manager: John Haldeman

REMIT TO: SNYDER & ASSOCIATES, INC.

Mailing: PO Box 1159 | Ankeny, IA 50021 Physical: 2727 SW Snyder Blvd. | Ankeny IA 50023



June 24, 2020

Mr. Don Clark, P.E. City of Ankeny 220 West First Street Ankeny, Iowa 50023

RE:

SE CROSSWINDS DRIVE - RISE PROGRESS REPORT NO. 13 S&A PROJECT NO. 119.0290.01

Dear Mr. Ciark:

This is the thirteenth progress report for the above referenced project and covers work from May 15, 2020, through June 18, 2020. Work invoiced through this period includes construction services including construction administration and observation.

The project was let on August 13, 2019 and awarded to Sternquist Construction. Subgrade and subbase are prepared, and waiting for dry site conditions to pave the mainline. Construction is nearing completion on the SE Four Mile Drive turn lane.

The project engineering services costs included on this invoice of \$21,416.94, are 80% eligible /20% ineligible for RISE reimbursement at a rate of 50%. A total of \$8,566.78 would be funded through the RISE Grant. Reimbursement for sums from the developer will be provided in accordance with the terms of the development agreement.

We look forward to continuing working for the City and you on this important project. Should you have any questions on this update, please feel free to contact me. We will be in attendance at the July 6, 2020, council meeting to answer any questions regarding this invoice.

Sincerely,

SNYDER & ASSOCIATES, INC.

P.P.

Mark A. Land, P.E., CFM

Vice President

Enclosures

cc: John Haldeman, P.E., Snyder & Associates, Inc.